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Name {,U.q/ - Test 06 —
/ Showall work to receive full credit

1. What is the domain of the function: 6. The inverse of the function 2x + 3y =6 is
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2. A function is defined by the equation y = 8Bx — 3.
If the domain is 2 < x = 4, find the minimum

value in the range of the function.
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3. What is the domain of f{x) = Vx — 4 over the set

of real numbers? O = J;:l?
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4. What is the domain of the following function?
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5. The inverse function of {(2.6),(-3.4).(7-5)} is
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8. Which equation does nor represent a function?
(1) y=2x
) y=x*+10
G y=1
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9, Ifffx) = x2 +x", find the value of f{2)




